(1] (1} 3x (2) axy (3) —a
{4) 3(x—y) (5 alb+e) 6 la—b)(x+y
(1) 2a (z) —by
(3) m (4) 0.1x
(5) dax (6) —2&m
(70 —3(a+b) (8) tip+aq
(9) (x+yi(x—y ) Tabla—b)
1
w Fab (38) @ —po (- F)
3] (1) «* (2) a®
(3} x%y? (4) (a+b)?
@ (m x* (2) a°
(3) xy* (1) tx*
(5) a‘be (6) ps©
(7) —mn (8) 3xy*
(9) (x—y)° 10 x*(a+b)?
a X
(1) =5 (2) y
x+y ___4_
(3) X (4) Ty
c x a
® ) & (2) —§ (3 3
2 P x—y
(4) y (5) q (6) 5
a 3 a+b
(7) b—e (8) mt+n (o) x—y
x+3
o) x—3
ab ac
(1 = (2} =
(3) ab—5 (4) %+a
BEER

(1)Eyit=a><b><%=-a—b

c

—gw .= 8c
{2}'—3-it—a>< b Xe= b

(3), (4) +,
T%Q
E2 XY
(1) 3z (z) = (3)
(4) ——53@ (5) §+3 (6)
(7) —xiy —x (8 2a+"’3—c

{10) _&.g_ —2ab

DERFIRETELWI LIERE

2x
y
—Z2p+3qg
(9) 2%

28 XFOX (REHEHR)

1 ,
815HK=2a+ b x5 ><c—~2a+Tc
1 ax
?3& aXx b— Xx= b ¢
{lolﬁ-it=ax(—%)—2ab=—%P2ab
(o) (1) y=x (2) axXb+e
(3) z+x+y (4) a+(x+y

(5] axb—a=b

()5 R=yx 1 =y+x

(6) 2Xm—3Xx+y+y

1
{2)-5—iﬁ:axbx?=ax b-+e¢

1.1
FR=eX Xy =zrzry

1
| S o —_ s
(4J—J-A:—a><x+y =ag+(x+y)

(1) (1000—120x) (z) 3(at+b)
(3) 10x+y

(111000 — 120X x = 1000—120x (|'])
(2)(@+b) X3=3(a+b)
(B10Xx+y=10x+y

(1) (150a+b)M (z) 3a+2b

atb+e

(3) 50+« (4] 3

(1) 100aem  (2) o5 ke (0.001xkg)

(3] 60t%5

(1)1m=100cm X ¥,
am =100 X a (cm) =100 a (cm)

) a5 (gs )

(2)1g =W]0.7g;0.

g=— 1000 Xx (kg) == 1000 (kg)
(3] 1 sfl=60 & 1,
IR = 60 X t (43) = 60 ¢ (53)

W1B= g5 E ), sBh=d X5 =35 ()

b/
(1) 1000pg (2 o5 m (a5 bm. 0016m)

(3) 55 M (g5 0 5H) (1) 1000 dmm

(5) 10000yem®  (6) F5e(552¢, 0.12¢)



(1) nf&idii—km (2) 5xm

(3 800(1+f5) M 71 (800+80p) 1

) Zmg
(1)x+4=1 (km/¥)
(Z]SUUXW =5x(m)

(3)800 % (”1%) =800 (1+%) (1)

(4)m X —— 100 m(g)
s (1) 2akm (z) 100pHM
n . mn
) m(1—25)/ F7 (m—22)m
4) 2ag () lﬁfg %
e
(1)a x 2=2a (km)

(211000 % £5 = 1005 (D)

(3)m (1—ﬁ) m(1--2) (1)

(1200 X —2— =24 (g)

100
; 100z
{5) a+b><1{)0— atb (%)
1) 4 (2 -7 (3 13 () %
(12x2=4
(2)24+3%(—3)=2—9=—7
(3)224+(—3)?=4+9=13
1 1 _3_2_1
Wt =6 6 6
(1) =7 { 13 (3) —8
_7 R U]
(4) 2 (5) 5 (8) 3
EE
(3)(—1)?—32=1—9=—38
3 3 _ . 1_ 7
By "6 37272
3 (-1 _ . 1_ 10
[5}( 1)+—3 =—-3 3= 3

28 XFOX (REHEHR)

(1) TH---x% —3xy, 4
X2 OFRE 1, —3xy OFRE—
(z) 7
(1) IH---—x* —3x, —5z
—x? DREC--—1, —3x OFEC--—

_539'){%&...._.
x 2
(z) lﬁ--4, 3 8
x L2 2
TOWEf, Sy OB
7, ¥, T
@) (1) 8a (20 —3a& (3) 6x (4) 3y—5

BRI

(15X =(3+5)a=8a
(2)5%X=(1—4)a=—3a

(3 5RX=(1+2+3)x=6x
4)5RX=02+1)y—5=3y-5

22 (1) 10a (2) —a (3) 5x—2
(4) —8x—4 (5 —gx (6 &x
3 (1) 3a—1 (2) 4x—10

(3) a—>5 (4) x+4

(15&=2a+3+a—4=3a—1
(2)53%=x—8+3x—2=4x—10
(358 =3g—4—2a—1=a—5
458 =2x—1—x+5=x+4
24 (1} 3x+8 (2) Bx+3 (3) 3a—3

(4) 2a—2 (5) —3x—4 (6] 3x+4

(1) a+1 (8) 2a+7 (9) —7x+4

(l]' 3x-]8

25 (1) 4x+12 (z) 3a—2

(3) 4x—3 (4) 6x—3

(M5X=4Xx+4X3=4x+12

(2)5-i:t=(9a—6)><%=9a><-é——6><%
=3a—2

’:‘r‘t‘.— 2 X 6— %X6=4x—3

3 3 3

()= x—2) X5 =dx X5 —2 X5 =6x—3
26 (1) 6x—9 (2) —2a—8 (3) 4a—8
(4) —15x+5 (5) 3x+2 (6) —4a+2

(7) 3a—4 (&) 4x—10 (9] 4x+12

(1o

ol

ia
8



7 (1) 7x+16 (2) Tx+7 (3) —16
(1)5&=2x+6+5x+10=7x+16
(2)5X=10x—8—3x+15=7x+7

(315*=3x—20—3x+4=—16
(1) 17x—16 (2} 12x+4 (3) —x—18
(4) 10 (5) —1lx+6 (6 2x—22

1

(1) 4x—5 i8) —ﬁx—l (9) 3x—11

g —x+8
(l) Tx—4 (3) x+3

12 4

RS

D _ 3(x—2)+2(2x+1)

(5H= 5
_3x—6+4x+2 _Tx—4

12 12
2x—(x—3) _2x—x+3 _x+3
4 4 4
5x+17 Ta+7 . Da—4
B (1) 3 (2) 6 (3) 3
—x—7 —17a +23
6 (8) 12

(2)53=

x+10
6
ARER 3
(3)5-K=
_5a—4
3
2(2x—1)—3(x—4)  4x—2—3x+12
6 N 6

(4) (5]

(@a—3)+(2a+5) _3a—9+2a+5
3 3

()5 K=

_x+10

6

@] (1) ¢=2nr 2} §= nr?
(1)e=2XrXn=2nr
(2)S=rXrXnag= nr’

B2 (1) M- 8rem [WifE 167 cm®

(2) FME---12recm  WRE---36m cm®

® (1) s=% (2) S=ab

B4 (1) 114 (2]

METHwWSERTWAT Yy FHOEREFHL 5.

2 dlcvwy FHEL 1 ABWTEL E, £2I2

2AMALT LI, E=AEHIT1DOTET

Lzdi-T, anflfEazoHlcid, 2o dinzh

FEwedhs, (1420 FLE,

(1+2n) &

28 XFOX (REHEHR)

@5 (5x—5) 18
BESR
13BIZxWUATHLH AL E S, ERARED
TAICHATHIE, FhEhz T8 LT
Wwahs, FOREAFSITIEE V. LIzd 2T,
(53’-'_5) {mo

BDFEED

1) (1) —6m (2) anx (3) »
4] Tlat+b) (5) abx® (6) ¢°
(70 xy*(1—a) (8) (x+1)°

5 N 1 \ z
(2] (1) m (z) " (3) —3

3 3t a—b . 1+=x
w Fe(3) @ 5 @

_ b 2

(1) ahp—3 2 G+%

(3) 5x+0.0ly (4) —5ar“'2H’
(1) 10x (2) —18a (3] —3x (4} 2x
(6) (1) (50x+80y)Fl (2) a+bd?

(3) ahcm?® (4) 4xg

5) < wsm (6) hg(0.12hg)
© (1) 60t# (2) & m (0016 m)

. s \ b

(3) mkg(ﬂ.ﬂﬂlskg) (4) (0+W0)m
@) (1) —9 (20 —60 (3) 24 () —2

2
(1) —4x, 2y, —5 (2) % —xy, —7y
[9) (1) Ta (2) 5a (3) —3x

(4) 4y (5) 5p+1 (6) —2a-—3
(1) 3a+8 (2] 8x—2 (3) —3

(4) —3a-+10 (5) —x+2 (68 a—5
[ (1) 3x+3 (2) —6a+4 (3] 5a+25

(4) 10a—9 (5) —2x—12 (6] 18a—9
(2 (1) lox+2 (2) 4a+9 (3) 5a+6

i o bx—1 Tx+7T

(4) —5a+2 (5) 3 6 45

—x—9 x+7
(7} 3 (8) 1

13 A--4acm?®, B--8acm?, --%—1%


浩之
テキストボックス




